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This page does not need to he printed. Write the date you do the work
and the above guestion in your maths hook, underlining them with a ruler.

) Hereis a square.
Inside the square is an equilateral triangle.
The perimeter of the square is 60 cm.
Find the perimeter of the triangle.

2)
[ If | use 6 straws to
@ make a triangle, | can
only make an
Eva equilateral triangle.
Investigate whether Eva is correct.
3)

Draw two more sides to create:
* An equilateral triangle

* A scalene triangle

* Anisosceles triangle

Which is the hardest to draw?

Answers are on the next page.



Triangles

Reasoning and Problem Solving

Here is a square. The perimeter of
Inside the square is an equilateral triangle. = the triangle is
The perimeter of the square is 60 cm. 45 cm.

Find the perimeter of the triangle.

Eva is correct.

[ If | use 6 straws to 2,2,2is the only
@ make a triangle, | can possible
only make an construction. 1,1, 4
Eva equilateral triangle. and 1,2, 3 are not
possible.

Investigate whether Eva is correct.

Draw two more sides to create: Children will draw

* An equilateral triangle a range of

* A scalene triangle triangles. Get them

* Anisosceles triangle to use a ruler to
check their
answers.

Equilateral will be
difficult to draw
accurately because
the angle between
the first two sides

Which is the hardest to draw? drawn, must be
60°



